M HEH| =

go
xn

.|

=

__o_l

RO
RO

A}7|7e] B3|AL|

A7 2
%I'E

e

2818 & SHA HIE)

I.

48 3
BHAAISHY: 2020-11-27

A3
) Z|

= 2 JIE o 34

=T

1

A

lEfo 2

A4l

tfat 0 ERRAERS Al

25Uy,
Ef2HAte] 70%0|4E Long-Shortde S

VST 7120 T2t AST(LE AB)2

_2_| =
S

w0 <l

o JJJ

DEAI

o

|

[s]

!

A

=

=

of

AH4tel 30% O[3

Elt
=1

L

A 2

=
S

g3

< 390 3
= Zug 7|E o™ 34

o £t

o
=
S

A Aol 70%0|AHS Long-Short&2F

E}
=

w0 <l

W._ﬂ 19)
N <
5 o
o il
o
om J|J

12 A2 =

O]

AERAES] 30% Ol

oj
e
oF
wr

JJ
0%

<k

oll

oZ)d: 20204 11€ 27

IR

FARESE

:0}0|CHA &0 70

Y

E

| &elol
A28

A

A
T

A28
I.

Ap7|

o E2198
2. o] YA

Wk
oD
D

+
Al =0, o

O]

=3

=

=

2% OfZAAIOICH B 712 oY 39
g w54 A

O ZLEA[OHE 24k 718 oM 3¢




